
A-A

B ( 1 : 2 )

A

A

B

K006/D (2/21)

31    900 54109

32    901 00097

46    900 48076   28z

47    198 00201   19z

48    185 06030

49    185 06040

50    185 06220

51    185 06680

52    185 06060

53    185 06150

54    185 06140

55    900 01301   M8x12

57    900 02000   M5

59    900 04049    Ø6x45

60    900 15679    6005

61    900 05041    Ø25

62    900 05042    Ø47

63    900 01299   M5x30

64    900 01300   M5x35

65    900 05013   Ø42

66    900 15771   6004

67    900 02043    M6

69    900 01111    M6x30   

96    900 04041    Ø3x10

97   185 06170               

         

 

P.
No.

46

47

48

49

50

51

52

55

56

57

58

59

60

61

62

63

64

65

66

67

58

57

68

69

B

53

32

96

97

31

54


